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NEAL SINE K4 | B |GROSS|HDCP | NET |crossui S
1 | BEE *x 40 40!  80[10.0 [70.0
2 KEF * 40 41 81[11.0 [70.0
3 B4 EF 37 37 741 3.0 171.0
4 B xx 40 44 84/13.0 |71.0
5 /B kk 41 40 81! 8.0 [73.0
6 | EEE * 43 43]  86/13.0 173.0
7 fEE ek 43 43]  86/12.0 174.0
8 |fmH 41 42] 83 9.0 |74.0
9 [/ *x* 40 42] 82| 8.0 174.0
10 IR *k 41 44)  85/11.0 [74.0
11 B 45 44!  89/14.0 175.0
12 R * 40 42] 82 7.0 |75.0
13 & ok 46 39/ 85/ 9.0 176.0
14 |FBR % 47 431 90/14.0 176.0
15 JEE sk | 42 41]  83] 7.0 176.0
16 [f8H  *xx 42 44]  86/10.0 176.0
17 [deBF 42 47, 89[13.0 176.0
18 Bl *x 39 48]  87[11.0 176.0
19 MEJE ok 46 41  87/10.0 [77.0
20 JIEF  #x 45 45/ 90[13.0 [77.0
21 EXA EFE 46 46]  92!14.0 [78.0
22 B E  xxx 41 47|  88[10.0 |78.0
23 B&% &F 47 45/ 92113.0 179.0
24 |JIILE  #xx 45 47)  92]13.0 [79.0
25 Y *x 48 40/ 88| 8.0 180.0
26 = xx 47 40/  87] 7.0 [80.0
27 RE  *x 47 45/ 92/11.0 [81.0
28 BRI *xx 41 45/ 86| 5.0 [81.0
29 |RKIE  xx 44 511 95/14.0 [81.0
30 [RR 40 49/ 89/ 8.0 [81.0
31 IRE  *x 45 50/  95/13.0 /82.0
32 HEO xx 43 52|  95/13.0 182.0
33 FAF  #k 46 51 97/14.0 [83.0
34 {FIEF 49 49]  98/14.0 /84.0
35 | HH  xx 47 45/ 921 7.0 [85.0
36 [ FR)I xx 43 50 93] 7.0 186.0
37 A xx , 46 50 96/ 6.0 190.0
38 |JBIL  kk 60 59| 119/14.0 ]105.0
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1 75 ** 38 40 78/15.0 163.0
RS 46 45 91127.0 164.0
3 _fiEl =x 42 39]  81/16.0 165.0
4 [PEZR ek 46 48] 94126.0 [68.0
5 kg = 43 47 90/22.0 168.0
6 |BR xx 42 470 89]21.0 168.0
7 IARR] k¢ 42 450 87/17.0 170.0
8 iFpE * 43 44]  92120.0 172.0
9 HF =* 45 44 89/17.0 172.0
10 DR 43 44]  87115.0 172.0
11 BRAS *x 43 46/  89/17.0 172.0
I 46 470 93]19.0 174.0
13 VNI % 43 48] 91117.0 174.0
14 [FHH %k 43 50/ 93119.0 [74.0
IFES.E: 41 49] " 90/16.0 [74.0
16 &R * 40 51 91]/17.0 174.0
17 [ BE = 45 48] 93]18.0 [75.0 |
18 |[B4a  ** 47 47 94/18.0 [76.0
19 [SFAf  *xx 47 52 99122.0 [77.0
20 B4 EFE 44 50/  94117.0 [77.0
21 B ek 44 51 95/18.0 177.0
22 | FAK * 50 50/ 100[22.0 [78.0
23 [BFAF ek 51 511 102124.0 [78.0
24 [P k% 50 52/ 102124.0 [78.0
25 & * 51 54]  105/27.0 78.0
26 | KF k% 48 520 100121.0 [79.0
27 BT kkx 47! 53] 100121.0 179.0
RS 48| 470 95115.0 [80.0
20 | TEE sk 48 48] 96116.0 [80.0
EES RS 48 48] 96116.0 [80.0
31 IFE  kx* 53 541 107(27.0 180.0
32 |#EJI] * 49 50 99119.0 80.0
33 [IE ke 48 51 99/19.0 [80.0
34 |FIE * 47 51 98[18.0 |80.0
35 IZGHL  kx 49 54; 103123.0 [80.0
36 B ek 45 520  97[17.0 [80.0
37 R kx 45 52: 97/17.0 180.0
38 I/PTH ke 47 50/  97116.0 181.0
39 KR x 50 431 98116.0 [82.0
40 B *kkx 55 57 112[30.0 [82.0
41 )l *xx 46 54/ 100/18.0 [82.0
42 [/DEJI] *x 55 50/ 105122.0 183.0
43 [ZgK  * 49 49]  98/15.0 183.0
44 \FHIF  xx 48 50/  98/15.0 [83.0
45 Rk 59 56/ 115/30.0 185.0
46 | 58 57] 115/30.0 (85.0
47 |BEX #EF x 50 54] 104/18.0 !86.0
48 |REfK  *xx 50 55/ 105/19.0 [86.0
49 | FH ek 57 59] 116/29.0 [87.0
50 |[HH 50 52] 102/15.0 [87.0
51 [l ek 50 54] 104/17.0 |87.0
52 B kk 50 59/ 109122.0 [87.0
53 |%H ok 51 53] 104/16.0 188.0
b4 |EHE Rk 54 57] 111123.0 [88.0
5, |4 EF 48 53/ 106:18.0 /88.0
56 |FEH  kk 571 56/ 113/18.0 [95.0
57 (Ll ek 64/ 62] 126:30.0 196.0
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